DPS 8381

N

T2 RHIETIHR

It Trafag BB ABR— U RMCH. FIEM B ERB URBTNEEHH
RESNSENERLEL, DPS 8381 BENFAXNEENBETTAIE XS
TREBE—E. SHIRBETEN S LHTIET NFC - EBHERIE App #ITRIT
BVl AR EMABHMEAAE DPS 8381 FNREBRN SMEERM
BEE8RE.

FZF FERR
. A o BHMUREFEE NFC - ZHEEIE App (Android)
" RERS: § BRSTARSEOTRIIEE 335°/343°
s SRIZHA ® B, TR ALY
s TUmA 5 NEREIRN
s WETE THE

RAIE

MERE pliENpd: NERE -25°C... +85°C

NETE 0..25%0...600 bar IMERE -25°C.... +85°C
0..30&0...7500 psi
Gk

BHES 4..20mA,0..5VDC,1...6VDC, EHBAER bar, psi, MPa, kPa, m 7k#E, mm 7k#Z, %,
0...10VDC, AJtJJ#E mA 3 V user scale

FrxHH 218 PNP &5 & BRI 170428 :3518 iR S

SFAEEEFE:0.1...999.9's, 3 (0)
FBE @ +25°C B8RUE +0.5% FS $28)(F

Trafag sensors & controls Industriestrasse 11 Tel. +41449223232 www.trafag.com
Switzerland 8608 Bubikon Fax +41449223233 trafag@trafag.com

sensors@controls

08/2019

HIRTIHT2321h

REEN



DPS 8381

8381. XX XX XX XX XX XX

=B BE BE BWEN BE HE 1BHER
[bar] [bar] [bar] [psi] [psi [psi]
0..25 75 50 75 0..30 90 700 G5
0..4 12 60 76 0..50 150 850 G6
0..6 18 100 77 0..100 300 1450 G7
0..10 30 200 78 0..150 450 2500 G8
0..16 48 200 79 0..200 600 2500 GA
0..25 75 300 80 0..250 750 2500 G9
0..40 120 300 81 0..300 900 4000 HA
0..60 180 400 82 0...400 1200 4000 HO
0..100 300 500 83 0..500 1500 4000 H1
0..160 480 750 85 0...1000 3000 5000 H2
0..250 750 1000 74 0...1500 4500 7000 H3
0...400 1000 2000 84 0...2000 6000 10000 H5
0..600 1500 2500 86 0...3000 9000 14500 G4
0...5000 12500 21750 H4
0..7500 18750 29000 H6
feRkes AR E S, KEEE: 0.5% 25
EAiEN Gl/4"Migsr? 10 R1/4" §MB%, DIN38582 19
G1/4" JMBLL () 17 M14x1.5 9MBL DING149-2 2 31
G1/4" shE&r (FH%)EN 8372 53 7/16"-20UNF 4M24, DIN 38662 4 18
G1/2" JMEL (FH%) EN 8372 11 7/16"-20UNF SMESL SAE4 (J1926) 2 42
1/4" NPT 4higg 2 30 7/16"-20UNF U4 SAE J512 %Rl T8 MS 29 24
1/2" NPT pRgy 2 51
HSED $EEHESL M12x1,4 §, PA SR (it P3, P4) k)
HEHESL M12x1, 5 &, PA #184 (fiF P1, P2) 35
WHES  FFEEHPNP, BT 4 ... 20 mA, ETEIHE 0 ... 10 VDC; HHIEE S0 “HifE” 2% P1, P2, P3 PA
FFXEHPNP, BERH 1 ... 6 VDC; itiiFE 20 ‘M =% P1, P2, P3 PU
FFRHIEPNP, BIESIH 0 ... 10 VDC; Kitii#15 S0 ‘M =5 P1, P2, P3 PV
FFFHHPNP, BRI 0... 5 VDC; ¥ S0 “Hift" =1 P1,P2,P3 PW
FFRHHPNP; St i%1E S0 M &5 P1, P2, P3 Ps
Mt 3IMIERE 5 5t;1:U+, 2: 884, 3:U-, 4:SP1,5:5P2 P1
S|HIECE 55t;1:U+,2:5P2,3:U-,4:SP1, 5: 1%} P2
S|HIERE 4 5t;1:U+, 2: 184, 3:U-, 4:SP1 P3
S|MIECE 4 55 1:U+,2:5P2,3:U-,4:SP1 P4
FEAEEFEETTH ¢ 1.0 mm, #%11.43059 40
EAEEFE B TH o 0.4 mm, #%11.43059 44
%t FPM, -18°C ... +125°C 61
2%t EPDM, -40°C ... +125°C 63
2%t NBR, -25°C ... +100°C 83
FRFLIESE M12x1, 5§13 33
RESHIRBERHES PS, T1 (BREXRSH) s
BEREFERHTEHLE BNERSE) zc
e 1R ES S/ SREENNEEE 71
ThaER 2: AP BN (AR AR 72

fRIFE, 14> F89051, 51 F89052 — %, 25 4> F89075 — &

VEPEFESEENZ ENE

2 B] g ia)

I AFEBSEO32/35

9120 bar 3 &Y, AR FESITEE 60 bar
S RERFEAENA 10,18,24

H72321h Titg 2/9 sensors & controls



Rt (B SEHAPRAR3E)

DPS 8381

Ems Sy LT EHER RAEE e fBE @ +25°C #
[bar] [bar] [vDC] BE
[%]

DPS2.5PAP1 8381752517 350000 0000 PAP144 61 7S 7172 0..25 7.5 15..30 +0.5
DPS4.0PAP1 8381762517 350000 0000 PAP144617SZ7122 0..4 12 15..30 105
DPS6.0PAP1 8381772517 350000 0000 PAP144 61 7S 71272 0..6 18 15..30 +05
DPS10.0PAP1 8381782517 350000 0000 PAP1446127S7172 0..10 30 15..30 105
DPS16.0PAP1 8381792517 350000 0000 PAP144617S 7172 0..16 48 15..30 +£0.5
DPS25.0PAP1 8381802517 350000 0000 PAP144617S7172 0..25 75 15..30 +0.5
DPS40.0PAP1 8381812517 3500000000 PAP144617S71272 0...40 120 15...30 105
DPS60.0PAP1 8381822517 350000 0000 PAP1446127S7122 0..60 180 15..30 +05
DPS100.0PAP1 8381832517 350000 0000 PAP144617SZ7172 0..100 300 15..30 +£05
DPS160.0PAP1 8381852517 350000 0000 PAP144617S7172 0..160 480 15..30 +05
DPS250.0PAP1 8381742517 350000 0000 PAP144617S 7172 0...250 750 15..30 +0.5
DPS400.0PAP1 8381842517 350000 0000 PAP144617SZ7122 0...400 1000 15..30 105
DPS600.0PAP1 8381862517 350000 0000 PAP144617S 7172 0...600 1500 15...30 +05

H72321h D5 3/9 sensors@controls



DPS 8381

88
B IEgE HEER FERM EPIRE
(zS M) (zC HiF)
Frx 5 SP1 (#HIFET) 75 % MESERH SP1>RP1 SP1
EFFRS FHL (FO%E) FH1>FL1
WEZ1%FS
SIRHE RPL (B FHfitm) 25 % NEEE RP1<SP1 RP1
THx= FLL (BORR) FL1<FH1
Wa = 1%FS
Frx s SP2 (#HIFET) 75 % MESERE SP2>RP2 SP2
EFXREFH2 (BOER) FH2>FL2
WEZ1%FS
SR H RP2 (B FHfil) 25 % MESEE RP2 < SP2 RP2
TFX5 FL2 (BOER) FL2 < FH2
Wa = 1%FS
FrxiwERTE) SP1 (FFHitss) 0 0..99.99s ds1
i EaE FH1 (B O#E)
FrxiERTE) RP1 (FE it =) 0 0..99.99s dR1
T EdE FLL (FOER)
FrxiwERYE] SP2 (B ft =) 0 0..99.99s ds2
FFxHEEE FH2 (B OE)
Frx i ERTE] RP2 (it ) 0 0..99.99s dR2
FrxiEtE FL2 (B OER)
ThREFF KM 1 wE, B 5 NO (Hno), i#f5 NC (Hnc) oul
(Hno) &H NO (Fno), O NC (Fnc)
INREFF Xt 2 HE, B & NO (Hno), i#ifa NC (Hnc) ou2
(Hno) &M NO (Fno), E NC (Fnc)
A bar bar, psi, MPa, kPa, m WC uni
MEEERE 100 % EEES 50... 100 % AFRES P-EP
PEJE (A LE) 0.01s 0.01...3.00 s (4jE)E%K) dAA
BRAM & %, = (180°) disr
B LEiENE EHE: 55, &5, &1E&, dis
BRXHA
YEifE: HH A% (RS 31D
BREHM 2 1,2,5,20 Hz duPd
H72321h Tit5 4/9

sensors <0 controls



DPS 8381

RBARE

B EIE BHiES [ HBBE 4...20 mA: 24 (15....30) VDC
0...5VDC: 24 (15.... 30) VDC
1..6VDC: 24 (15...30) VDC
0..10VDC: 24 (15...30) VDC

BIBILR #1R{E 200 ms
REIRERF, F2EAERE @ 25°C, 5 D EH &k
fe=:) <30mA
MR NRRE -25°C ... +85°C
WERE -25°C... +85°C
iiae-Z & IP67
nE =K 95 % AENHE
)] 10 g(10...2000 Hz)
& 50g/3ms
EMCEBHER A a5t EN/IEC 61000-6-3
T EN/IEC 61000-6-2
Wi EhiE ERkEs (A R) 1.4542 (AISI630)
EAEO (ERAR) 1.4542 (AISI630)
Hhes BREHT
BRERETING
i FPM, NBR, EPDM
HEEHE SHITHES
g ~189¢g
RHEHE 15...20Nm
HhEIgE BRATRER%335°, & K 2.5 Nm
B A Ed%343°, RA 5 Nm
Y BRBSER
MEHEE 0.5 %
5
4 :
3 ~ L -
2 =2 — -
S T 7 —
S0+ - — — [—— _ e —— = |
S - = ]
;td 2 ] - = 4 ]
3 — =
4 - ~
5
30 20 10 0 40 50 60 70 80 90
max. _ _ typ. — 1 TEB(-25 ... +85°C)
H72321h Titg 5/9

sensors@ controls



HHES
fBE

RRRAHES

FE/E (LFHE D)

BREES;Y

B REERESER
SHARNNEER (P_nP)Y
KRENNEEE (P_EP)
EINE R S =B (0_nP) Y

R IRA L RIH%E (0_EP) Y

A 4 ... 20 mA HER[E
BIREW @-25...485°C
1BE @ +25°C

NLH @ +25°C (BSL)
TCERREBMNEREE

1EKBRE

4...20 mA: 25 mA (iB%)

0...10 VDC: <40 mA (}Z)
0.01...3.005/10...90 % EEES
+02%FS

0..50%FS?

50...100 % FS?

EHH: 0... 2VDC

Bt 3.9... 0_EP -8 mA
HEHH: o_nP+4...10.5VDC
BMH: o_nP +8...20.1 mA

DPS 8381

[% FS 88 {E]
[% FS H28YE]
(% FS 85I{E]
[% FS/K $25¢
1&]

[% FS 885! {E]

+1.75
+0.5
+0.2
+0.03

Y Available with optional function package, see "Accessories"

YP_EP-P_nP >50%FS

BE

HARRIREEE
FXRmE

FFREEM
ftiRThEE
FFREETR
Gehiltisd!
FRE
HERIE

KBE @+25°C

BIREH @-25...+85°C
1FEKERE
0...100%FS
Z1%FS
Fxm>ERER

<30

e, B0O; EFS (NO), Eilfits (NC)
< 05A MRS
S2ABNMFERH
E]RA 200 Hz

0..99.99s

[% FS Fa54(E]
[% FS EAEI(E]
[% FS 885 {E]

A

o
T E &
~

|
i

FRREER

1BMF

EROMWE

EREE

RESH

FiF B X A
FRNARLETHARBEXMEY

441 7 BB BnEs Al st 180° HAl XA
TR

< 9: 3t

10... 99: 2+i#{iL

100 ... 999: 13841

2 LED, 418

3 MREFFERES], S VDMA 24574-1
0.1%FS

-3...103%FS

SNEXRSHK

Y Available with optional function package, see "Accessories"

H72321h

g 6/9

sensors@ controls




DPS 8381

R~
037 RIS
L
o
335° max. 2.5 Nm ~
q ! M12x1
o QE W - 343° max.5 Nm
y 043
L -
L0
L
1 ][0
032 SW27/929.5
48 P

8381.XX.XXXX.35/32.XX.XX

14145 12 2 15 3 20 _ 145
= | [ |
- 5 =dk . AU =l &l B 11—
8| ”l —y - A ©
o™
U 2 2 N
12520 §E g Seal 4 2 R é‘g& 0~
SI= Sl dinzssy S Sl &g
(SRR
8381.XX.XX10.XX. XX.XX 8381.XX.XX17.XX.XX.XX 8381.XX.XX53. XX. XX.XX 8381. XX XX11.XX.XX.XX
15.1 2 145 13.5 6.5 145 11315 145
10 145 4——‘
i 1t [
- 1:/ | i
oD oD ~
= L0 [~ L0 co > — =
3B | [ 3 2l . |2 ol S 3 2%
Si= = el S 2222 &g g2 =3 83
al=s 2l ala e
8381.XX.XX30.XX.XX.XX 8381.XX.XX51. XX XX. XX 8381.XX.XX19. XX. XX.XX 8381L.XX.XX31.XX.XX.XX
9 23 7116"-20UNF SAE J512 ‘ 54...60
g
— 2 = —
Q| L
82 2y 12
=256 &
~|&5
8381.XX. XX18.XX. XX.XX 8381.XX.XX42 XX. XX.XX 8381.XX.XX24 . XX.XX.XX 8381 XX XXXX.XX.XX.33

H72321h T8 7/9 sensors &) controls



DPS 8381

BSEO
PR B REE
IP6T*
M12x1
5-1& 4-1%
35 32
3 2
5 5, 2
4 4-
1 1
P1 P2 P3 P4
PA v v v
PU v v v
PV v v v
PW v v v
PS v
P1 P2 P3 P4
——+@ Us+ 1 1 1 1
1T++0OUs- 3 3 3 3
+-+—+ Outanalogue 2 5 2 -
UITLL L g 4 4 4 4
Out 4—-+—sp2 5 2 D)
le__ Shield *%kk) B ***) & ***)
8381.xx.xxxx.xx.PA/PU/PV/PW/PS
(R BIE RIS AT N
%) FEIN (i AR FB
4...20mA: min./max resistor vs. supply voltage @ Pmax = 100%
1200 O
O A /
— — - Rmax @ 85°C -
= 1000 ) , pa
£ R min @ 85°C
e
5 800 —A
E 7
wv
&
= 600 —
=4 L
3 4
(%]
2 400
o
@
=
© 200
0
5 10 15 20 25 30
Customer Supply Voltage (V)
H72321h

oG 8/9

P -—+—US+
I —us-
@ I SP1,SP2
| RL
ezﬁh us -

sensors <0 controls



DPS 8381

ThEeFr Xtk

g =] wE
P P P
SP FH SP I
FL P
P / /
t t t
ON ON ON
Hno Fno I I Hno
OFF ! . OFF 1 ! . ' OFF . .

ON : : ON ot F OoN —
I R L] T e
oFF OFF OFF

pre =} HIER www.trafag.com/H72321
1BIERBAH www.trafag.com/H73320
INBF www.trafag.com/H70694

H72321h g 9/9 sensors & controls



